ESHXR EXEMENMITKER VN REIRERTEE(TMEFEE)

E%BE = miE (m) RX{HEE(H)
= N
J‘E-‘%‘- m.\ﬂzﬁﬁ\‘l' 104,830 } ﬁﬁz'945'458
4 1E 4y 4370 (5B INE%E709,068)
H 2ER 0 0
8E|
EIER 0 0
- 2,945 458
&t 109,200 (5B INE %E709,068)
ZRFLIA . 2{ER 0 0
o B 421543 7820| - 45,564
EEZBEHN ’ OB INEEE18,194)
e yui| 2UER 0 0
18% EIER 0 0
- 45564
&t 7820 (OBINE%EE18,194)
2UER 0 0
BE
EIER 0 0
Eih 2UER 0 0
8E|
EIER 0 0
Hi 0 0
A 2,991,022
sl 17.020] (54 ynega707.262)
X5 £2(H) |5 (%)
) HEEAEES 2,207,335 74
X {TEERNE
BB 5 783,687 26
a5t 2,991,022 100




